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Total No. 40

Math Sci 9: Test

Name: Roll No. :
Date: . -20 Teacher's Signature:

Q.1: Tick (v) the correct answer. ..u" DK (v) sl s Ay
Every polynomial is ______ expression: ¢.t’xu"t P(x) ,L?‘?;/-& -1
Irrational /¥t 4 (D) Rational /¥t (C) Real /& (B) Complex /24 (A)
If x=3 and ¥ =-1 then the value of x’y will be: el Xy Imy=—lmx=31 _2
9 (D) 9 (C) 27 (B) 27 (A)
(4x+3y—2) is an algebraic: d/lJ ((4x+3y-2) _3
Inequation/abpﬂf (D) Equation/=/sL+ (C) Sentence/a/” (B) Expression/.»Z (A)
(Na ++b)(Na —+/b) is equal to: /'/(\/_Jr\/_)(\/_ Jb) -4
a+b (D) a—b (C) & —b* (B) b (A)
(3+2)(3-+2) is equal to: etz (3+2 )(3 J2) 5
I (D) -1 (C) —7 (B) 7 (A)
Conjugate of surd a+\/3 IS: J?Z,u(a-l-\/_/blw -6
Ja-+/b (D) Ja++/b (C) &=~lb (B) ~a+:b (A)
The degree of polynomial 4x* +2x°y is: "<9/\—/\ ‘ P ok Ax" +2x%y uﬂ/ <l
4 (D) 3 (C) J 2 (B) | (A)
If x=4- rthenthevalueoflsl/x : OM\Q/\ JM ...u’d’l/xmx 4 — \/7] -8

N\
4-J17 (D) 417 (C) > S SV ) 4+17 (A)
a’ + b’ is equal to: NS eiza +b -9
(@-b)d*+ab-b>) D)  (a—b)d’ —a%byﬁq (@+b)(d* —ab+b>) (B) (a—b)d* +ab+b>) (A)
a’ —b’ is equal to: <> el g —p 10
(a-b)a’ —ab+b*) (D) (a-— ab+b°) (C) (a+b)a —ab+b’) (B) (a-b)a’ +ab+b ) (A)
10x2 =20 Write short %é\ﬁfgo any ten (10) questions. -Z//utliiuwrw:.d/ 24
Define polynomials. /{\}j _J/’/J/U:L? ‘f / -i
If a+b=7 and a—b=3 then find ¢" +5b". ..“épb”f%—bz?a b=3sa+b=7 _ii
Factorize 64x° +343)° S sAd 64xT 343y il
f a+b=10 and a—b =06 then find the value of (a +b%). -J/?}”‘Jd/(a +b ) Iwa-b= 6.5 a+b=10/1 _iv
-actorize X =y —x+y =N / -V
Define surd and giva an example. _‘_g,adt‘»mﬂé -3 /Jﬂ;;u» ~Vi
Simplify: 3/96x°y7z* 227 i
Simplify: $243%° 102" Z2 A7 _viii
What is meant by Binomial surd? ?L;/bf;;_/';!wdm ~iX
If x:2—\/§ then find the value of 1/ x . _é(FJJl/xifx—z \/_/ X
Simplify: (\/; + \/;)(\/;— \/;)(x +y)x° +y°) 5/5; Xi
Define conjugate of surd. _iJ/JJfKL(‘%LV Xii
1x10=10 Write answer to any One (1) question. J liKJIrJ;;.d/ (LY
If x=2++/3 then find x2+%2- J+2+Ja? -2 i X t : Smx=2+30  _3 4
Simplify: Jr+2 a2 EA27 0 Lafy
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Q.1

(1)

(1)

(iii)

(iv)

Q.2

()

(i1)

(1)

(iv)

Exercise 4.1

Identify whether the following
algebraic expressions are
polynomials (Yes or No).

3 45
X

No (Because of 2 ) Ans.
"

3" —4x? —xJx +3
s
No (Because \E c:-r(x)z ) Ans.

X =3x+/2
Yes (Because no variable has
power in fraction). Ans

3X

|
No (Because of Ans O
( 2x—1 ) <>Q

State whether each of the
following expressions IS a
rational expression or not.

3Wx
3dx +5
Irrational Ans
=2 +43

2+3x—x°
Rational Ans

X" +6x+09

x-—9
Rational Ans

20x +3

2\x -3

Irrational Ans

— +8 (&
2x—1 @Q;g

. www.pakgit

Q.3 Reduce the following ex
to the lowest form,

120x°y°z°
30x° yz°

(i) (x+y) —4xy
(x-y)
sotuion: (1) 40

(Jr-l-y)1 =x"+y +2xy
L(x-y) =¥ 4y -2x
x° +y° +2xy —4xy

X° 4y —2xy
X +y —2xy
X +y —2xy

pressio

.0rg
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=1 Ans

(1v) (l' '}F)( +Xxy+y )

(x- }*‘)(Jr:*“"ﬂE + Xy +y:)
(HE +b*)=(a- E})(ﬂ!2 +ab+b° )

O
o EAE-Y ﬁ
' (x+1)(x3’ —4)
( |

) X —4x+ 4
Vi -
Vi) 2y —8
*_4x+4
Solution: ul X

2x- -8

~(a-b) =a’-2a
LA o —(ﬂ+b)(a b)

2(;:3 _4)
(x-2)
2 (<)~ (2)'|
2(x+2)(x-2)
(x-2) (x~7)
2(}:—|—2]M

Ans

- mem—
| —

(x—l—Z)

&2

64x" - 64x

O@ (8x" +8)(2x +2)

@%@% : 64x" —64x

IO (8}:‘3 +8) (2_],:_}. 2)

641'(:1'4 = 1)

64( ) (1)

M

Ox —(;!c2 ~ 4)3

viil) :
vl 44+3x—x"
9x* — (rl - 4):
Solution: '
4+3x—x"

WW pakcity.org
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() -(x-4)

 443x—-x°
~(‘3x X"~ 4) (3.:': —x‘ 4 4)

4+3x—x"

—~x* + 4

=x*+3x—-4Ans

Q.4 Evaluate
'y -2z
(a) il for
Xz
(1) x=3y=—-lLz=-2
(11) x=—1y=-9,z=4

Solution for 1*' part
Whenx=3, y=-1, z=-

l
[-J

x'y—-2z

() (-)-2(2)
(3)(-2)
- 27(-1)+4
il bk
. —27+4
-6
23
-
23

= — Ans
6

Solution for 2™ Part.
When x=-1, y=-9,z=4

3
x'y—-2z

_(=)(=9)-2(4)
(-1)(4)

_-1(9)-8

el

(xz +3x—4)L—x/:+€rf-l—/47

(b)

Solution:

(1)

Solution:

T 7 4
Xy =3z
Xz

for¥=4Y="23pd z=-1

IE.}’E : 534

Xyz

(4)(=2)(-1)

Perform the indicated operation
and simplify.

5 4
2x—3y 3y—2x
15 4
2x—=3y 3y-—-2x
4
C2x-3y —2x+3y
I 4
C2x-3y  —(2x-3y)
15 4
= - S P —
2x—3y 2x-3y
19

= Ans
2x—3y

www.pakcity.org
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1+2x 1—-2x

(11) = '

' |-2x 1+42x

Solution: o = el
1-2x 14+2x

(1+2x) —(1-2x)
(1-2x)(1+2x)
() +(29" +2(29()-| () 29" -2(29()
(1) (24
1+ 4x° +14;sr—[l+4::2 —41:]

- 1—4x°
C1+4x° +4x—1-4x° +4x
| —4x°

F—
g

~ 4x+4x

1-4x7

= L) — Ans

1 —4x

* =25 x+5

¥ —36 x+6

x*—25 x+5

¥ =36 x+6
() =(5) x+5
C(x) -(6) x+6
{x+5)(x ’») Y+5
(:r+6}(x 6) X+6

:(x+5)(x 5)—(x—6)( x+5)

(x+6)(x-06)

i (r+5)[(r—5) —(x—é):]
IE ___62
x+6)

_ (x+5)(x-5-

x =36

_(x+3)(1)

x° =36

+ 5
= x- - Ans

x e B

(111)

Solution:

X ¥

(1v)
X=y X+¥y X =)
X ¥y ny

Solution:
X—y X+Y X’ --,}f

. x(x+y)-y(x-y) 2xy
(x— y)(:er)) x*—y°

xX—2 x+2

C4+6r+9 2x°—18
Xx—2 Xx+2

x- +6r+'§l 2x° —18
L7 g2 x+2

() +20)(x)+3 2(x-9)

x—2 x+2

(xe3) 2 (x) -3 |
x-2 xX+2
(x+3)z 2(x—3)(x+3)
B x—2 B X+2

(x+3)(x+3) 2(x+3)(x-3)

:2(x—3)(r—2)—(r+3)(x+2)
2(x+3)(x+3)(x—3)

Solution:

. 2(1’3 —2.1n:.*—3.1::Jr-i"i-)—(:f2 + 2%+ 3x+fj)

2(x+3)(x+3)(x—3)
2(1‘2 ---S:Jr-al-lfiv)---(::r2 +Sx+6)
2(x+3)(x+3)(x—3)

2xy WWW.pakcity.org

Please visit for more data at: www.pakcity.org



~ 2x"—10x+12—x"-5x—6

2(x + 3)2 (r —3)

x —=15x+6 .

(vi) ] B 1 B 2 - 4
¥r—1 x+1 x+1 x'-=1
1 | 2 4
Solution: — - ——————
A ¥+1 x*+1 x*-1
(x+]} (;r ]) 2 A

Q.

(1)

Solution: (x —49)

2(x+3) (x-3)

(x—1)(x+1) x+1 x" -1

:/-r-l—,(-i-] 2 4

* —1 x*+1 x*-1
2 2 4

x*—1 x*+1 x*-1
2(1‘1 +l)—2(}¢2 —1) 4

) (Jr2 —l)(:x:: +l) ¥ =1

(Y-
4 4 O

x'—1 x' -1
| O
4-4
=1
0

x* —1

= () Ans

6 Perform the indicated operation
and simplify.

, Sy + 2
(I __49)' x+7
Ay +2

x+7
- ] Sx+2
:[(:c) -(7) ] x+7
=(r+7)(l‘—7)

(5x+2)
— (_:r - ?)(5:»:‘ + 2) Ans

(x+7)

SO : =i
@ ¥ -y
& i + 3 :?'
(x*) =(»°)
— _..‘E 5 L(
X' -y '

x -1 xX+35

(iv)
Solution:

x:+2x+1 1—-x

" 4x-12 . 18-2x"
(11) ——
x -9 x+6x+9
. 4x-12 18-2¢°
solution ————vw—ou——
79 R 2(0() 7 0)
~ 4x-3) . 2(9-x7)
(1‘ )-(3)° (:ﬁr+3);E

-4 (x'+3):

x*=1 x+5

¥ +2x+1 1-x
(I+1)(I—]) X+ 5

(

x*+2(x)(1)

()T

(:-.:‘+1)

(1) ) ~(x-1)

-LV'T

www.pakcity.org

Please visit for more data at: www.pakcity.org



x*+xy x'+xy  x'—x
y(x+y) y(x+y) xy-2y
XXy XXy | X —X
y(x+y) y(x+y) xy-2y

x(47) x(34F) x(x-1)

(V)

Solution:

(7) (35) (-2
_xf F(x-2)
v A(x-1)

— x(-x _ 2) Ans

}"(I_l) @

www.pakcity.org

Please visit for more data at: www.pakcity.org



Exercise 4.2

Solve

Q.1

(1) If a+b6=10 and a-5H=06, then
find the value of (a‘” + b‘?)

Solution:
2(4:1 +b° ):(a+b) (.::x—.b):'t
2(a*+5%)=(10)" +(6)
2(a’+56°)=100+36
2(a* +5*)=136
o8
(a2+b:)=M§ -

#
(ii) Ifa+b=5a-b=+17, then
the value of ab . o\
Solution:
dab = (c:er‘,’J)E —(a
4ab =(5) —(«/ﬁ)ﬂ
dab=25-17
4ab =8
ab = =
4
ab=2
ab =2 Ans
Q2 If g +b +c =45anda+b+c=-1

, then find the wvalue of

ab + be + ca .

Solution: a” +b° +¢° =45
a+b+c=-]
ab + be + ca="?
We know that

(a+b+c)2 =a” +h”+c” +2(ab+bc+ca)

(—1)" = 45+ 2(ab + ¥WW¥Hakeity.org

1=45+2(ab+bc+ca)

1-45 = 2(ab+bﬂ+ca)

~44 = 2(ab +bc + ca)

74:1'23
7

(.ﬂb + be + -::ﬂ) =-22 Ans

= (ab + DC + c?ﬂ)

Q3 Ifm+n+p=10 and

mi+np+np=27, find the value of
m +n +p

Solution: m+n+ p =10
min+np+np =27,

+ p° “ =
@w that
=m +H +p°+2mn+2np+2mp -

. ,.
@—m +n° + p* +2(mn+np+mp)

100 =m™ +n"+ p* +2(27)
100=m"+n"+ p” +54
100-54=m" +n + p°
m°+n°+ p* =46 Ans

Ifx +y +2z° =78 and
50 find the value of

Q.4

Xy+)z+2x=

Please visit for more data at: www.pakcity.org

X+y+z.
Solution: x* +y* +2z° =78

Xy + yz+2zx =39,

X+y+z=?

We know that

(x+y+z) =x>+ ) +2° +2xp + 2yz + 22x

(.r+_}’ +z)3 =78 +2(Iy+yz z:c)
(x+y+z) =78+2(59)
(x+y+z) =78+118

(x+y+z): =196
Taking square root at both sides



\/(._:r+_}J*-|-4.f)1 — ++/196

x+y+z==*14 Ans

If x+y+z=12 and x’ +y =64,
find the value of xy + yz + zx.
Solution: x+y+z=12

x*+y =64

Xy + yz +zx =7

We know that

(:.lr:+_]£+.;..,"')3 =x "+ y +2 +2xy+2yz+2zx

Q.5

*

(x+y+z) =x"+y +z° +2(xy +yz + 2x)

(12)" =64 +2(xy + yz + zx)
144 —64 = 2(xy + yz + zx)
80 = 2(1}#-&—}?:—& zx)

" 30

7 =(xy+yz+ zx)

40=xy+ yz+zx
xy+yz+zx =40 Ans

Q6 If x+y=7 and

find the value of x° +)°
Solution: x+y=7

xy =12

X +_}-’3 =9

We know that

(x+y)3 = X" +)~’3 +3xy(x+y)

(7)' =¥+ +3(12)(7)

343 =x° + ) +252

343-252 = + )’

Ol=x"+y’

x*+y° =91 Ans

Q.7

If 3x+4y=11 and xy =12, then
find the value of 27x" +64)".
Solution: 3x+4y =11

xy=12

271’3 o n 64}:1’ =%

www.pakcity.org

(x+}) =x"+y +3xy(x+y)
(3x+4y) :(31‘) +(4y) +3(3x)(4y}(3x+4y)
(3x+4y) =27x* +64y +36xy(3x+4y)

(11 =27x° + 64)° +36(12)(11)

1331=27x° +64y° +4752

1331-4752=27x° + 64"

—3421=27x° +64)°

27x’ +64y" = -3421 Ans

then

Q8 If x-y=4 and xy=21,

find the value of x’ — )~
Solution: x—y =4

xy =

%ﬁg@)) =x -y =3xy(x-y)
(4) =x" -y =3(21)(4)
64 =x" -y -252
64+252=x" -y’
316=x" -y’

x'—y =316 Ans

Q9 If 5x-6y=13 and xy =06, then

find the value of b125x" - 216"
Solution: 5x -6y =13

xXy=20

125x° —216y°=?

We know that

(:Ir—-y)':1 =x -y -3xy(x-y)
(x=6y)" =(5x) ~(6y) ~3(5x)(6y)(5x~6)
(5x—6y) =125x" —216y* —90xy(5x—6y)

(13)" =125x" —216y* —90(6)(13)
2197 =125x° —216y* — 7020
2197 +7020 = 125x* — 216y

Please visit for more data at: www.pakcity.org



9217 =125x" - 216y°
125x* —216y° =9217 Ans

l

Q.10 If x+—=23 then find the value of
X
X4 ]
xﬂ-
|
Solution: x+—=3
X
¥ 4=
X
We know that

| 3
l N S
X+—| =X +—+3| X+
X X

Q.11 :

X
.1
of X ——

X

) ]
Solution: x ——
X

7
b

IJ
We know that

T
7Y =X ——=3(7
(7) =x"-=-3(7)
343 =5’ — 2]

X

]

If x——=7, then find the value

343421= % ——
X

-

X =7
I.}

364 =

: —1_; =364 Ans
X

X

_ .

|
3Iy+—

3x

27x} 4 —

i 27x

Solution: [B;r + i] =5
ix

Q12 K =5, then

of

|

27x
W that

g@,%x L]

27x +

=2

27
1

27x°
1

27x
15=27x" +

125=27x" +

125=27x" +

15— :

|
27x°

110=27x" +

1
27x

27x" +

',-'" l ™
Sx -—J
X

value of [12.‘5.&:‘3 -

1)26
Sx

If

Q.13 6,

]

Solution: (5.1-

=?

(125.1'3 . __4]

125x

Eg@% (5) =27x° +=—1—+3(3x+-—l—\
+3(5)

—+15

MTx

125x

www.pakcity.org

find the value

N 1

) 525

31",4
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-=110 Ans

then find the

)



we Know that

_ 'm,.]:: g N 3
i
Xy
|

6 =125x> —————3(6
(6)' =125x' - ——-3(6)
1
125x°

216 +18 =125x° — | :
125x

|
125x°

=234 Ans

uaS}:

216=125x" — =18

234 =125x" —

1

125x° — g
125x

Q.14 Factorize

i) ¥ -y -x+y
Solution: x’ —y’ —x+y

=(x) () ~1(x-7)

-(r—})(x3+x_}’+} (x-y

=(x—y)(x’ +W+}®1§@

1

ii 8y’ ———
(i) 7
Solution: 8x —- ]'
2?};.‘#
%
=(2x) - L
3V
1 1Y (1Y
=| 2x—— (2:1') (2;\:) +| —
i 3}"__ 3.}"_,3 3y
4 " N
1Y ., 2x 1
=| 2x—— || 4x° +—I+— Ans
. YN 3y 9y

~(59 {5 () 3¢ (53

5

L)
@Q
AN

www.pakcity.org

Q.15 Find the
formula.

products, using

(i) (x + - )(I4-I Vo+y )
Solution: (x + ) )(x —x“y* + ) )

=( +7)| () ~(2) (7))
() ()|

=x"+3° Ans

| sy

-}

(ii) (.ﬁ —y3)(r’5‘ +x°y +yﬁ)
Solution: (x?’ -y’ )(Jrtﬁ +X°y 4y ﬁ)

() )0 )
O@f ) -(»)

i) G
=x —y Ans

() x0) () o945

(¥ 4y )(x* -y +y7)
Solution:

(I—}-’)(I-I—J’)(Ig +y° )(xl + Xy +y:'")
(,r3+1j)f+ y )(.1" - Xy + ) )

=i(x y) (,r“ +1}r+}r“): :(x +y)(::|rj ~ lj?+_}’3):|
:(x3+}“)( -x*y +y ﬂ

(x =)+ 0) ] () + ()

Y’ _(x'ﬁ +y'5):

(iii)
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www.pakcity.org
(iv) (20 -1)(2¢ +1)(4x* +2¢ +1)( 4 —2¢ +1)
Solution:

(Zf - I)(Zf ’*"1)(41'* +2x° + 1)(4174 -2x* + 1)
=| (27 —1)(4x' +2¢ +1) | (2 +1)(4x -2 +1)

= [(21‘3)3 —(1) _ [(2::"-‘- )} +(1) _

= (8:-:5 ~ 1)(81“5 + 1)

=(8x°) -(1)

—64x' " —1 Ans

L -
e

Q
Please visit for more data at: www.pakcity.org



L.xercise 4.3

Q.1 Express each of the following
surd in the simplest form:

i) /180
Solution: /180
]
=(180)2

]

=(2x2x3x3x5)2

(ii)) 34162 <>@
Solution: 3+/162

3(43132)

= 3(\/!; % JE)

=3x 9(\/5)

—27/2 Ans

| 3 s
-|-~l~-|- _3 128
(1ii) 4\/

Solution: %Q‘ 128

Bl AW W

2z,
A
.
-2
—

1

_I ——
5
4 |
Cag '
th
——

1

_A_ . /3 www.pakcity.org

sim5 < JE. .. 2.3
=-i‘fZ" X3Ixx yz xxyz

2 imF 5 55 3 23
= Y2°x° ' x P3xy’z
=32 xUx* x Yy xVz’ x {/31}'::3

= 2ryz{‘f3xy::3’ Ans
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(ii) V2149
J63
J214/9

03

Solution:

(iii) = {/24315'}?”’;]5

S'ﬂl“tiﬂ“: — .#243_]:‘%}:] ”E”"

=3EI£};KEE

=3xy°z" Ans

(iv) %ihzs

Solution: %\/ 125

=§¥5>{5x5

i

_4 . www.pakcity.org

(V) JﬁTxJ?xyﬁ
Solution: 21 x+/7 x\3
:\/?:-(Sxﬁxﬁ
=T x3x7x3
= J7xT%x3x3
T

—
=21 Ans

Q.3 @ﬁiﬁ% by combining similar

O%% ﬁ?]‘l’ﬂﬁ.

(i)  V45-3420+445

Solution: /45 —3v20 +44/5

= 9%5—3%@¥Z+4J§
:\/?ﬁﬁ—3\[2?xﬁ+4ﬁ
=345 -3x 25 +44/5
=3J5-6v5+445
=£(3—6+4)

=\/5(3-2)

=5(1)
*—-\E Ans

(i) 412 +5427 =375 +/300

Solution: 4\/1_2 + 5\/_2? —3-4% + \/SD-D

=44 %3 +5v9%x3 —3y25x3 +/100x3

= 4x 23 +5x3Y3 —3x543+1043
=83 +153 =153 +103
—8J3+15V3-15J3 +10\3
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=18\/§ Ans

i) V3(2V3+343)

Solution: \/5(2«/3;+3J§)
=3 x/3(2+3)
=(B) <9
=3(5)

=15 Ans

(iv)  2(6v5-35)
Solution: 2(6\@ ~345 )
=2 \/3(6 — 3)

, <>@
:Zxdg(?’)
=65 Ans @&B

Q.4  Simphfy

(i) (3+ﬁ)(3—\/§)
Solution: (‘3 +3 )(3 ~«f3 )

(i1)
Solution: (V/g +3 )

(1m1)

=3 —
:2 Ans

(V)

Solution:

(\/E +\/I)(\E—J)_f)(x +y)(x* +)7)
() () [ 2)(+07)

( N ﬁ):” www.pakcity.org

g ~);5 2(5) B)H3)
o213 Ans

(V5+3)(V5-3)
Solution: (\f \/_)(\/_ J_)

(V5) (5]

3
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(Vo3 ) (V=) (x+2) (" +57)

=(x - .})(H})(x +*)
= (x)" = ()" |(¥*+?)

|

()6 +7)
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| () ()

x*—y* Ans

D10 Al10)ed MMM :1e Bjep alow 10J 1ISIA 8Sed|d

5}

@@o

K7

57
Os@m
@o



Exercise 4.4

Q.1 Rationalize the denominator of

the following

,_ 3
: 3
) 43
3
Solution: ——
43

3
443
3 43

= X

443 443

www.pakcity.org
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Solution: :
3+245

(V)

Solution:

1

3+2V5
1 3-2V5
34245 3-245
_ 3-2J5

B) -(2V5)

3-245
- 0-45
3-25
©9-20

3-25

—11

Ans

5
J31-4 <€§§

15 §§>
V31-4 QS§§§§§X
o

J31-4
15 \31+4
- J31-4 f31+4
_15(\31+4)
(VA1) - ()

15(vﬁilk4)
T 31216

¥5 (V31 +4)
.

:J3T1+4Ans

YW 5B
Solution: NG

www.pakcity.org
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(1)

(11)

(iii)

—2-43 Ans

find the conjugate of x + \/;

347

Solution
Conjugate 3—+/7
4-+/5

Solution
Conjugate 4+45
2++/3

Solution
Conjugate 2 - J3

(iv) 2++/5

Solution
Conjugate 2 - J5

(v)  5+J7
Solution
Conjugate 5—7
(vi) 415
Solution
Conjugate 4+:/15

(vii) 7-V6

Solution
Conjugate 7+/6
(viii) 9++/2

Solution
Conjugate 9— J2

Q3 ©)
.,Qz J3, find -

@%ﬁun Gwen that x=2— \/'_
q.

(i) If x=4-17, find E
X
Solution: Given that x =4 -+/17

I |

PN AT

www.pakcity.org
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(i11)

www.pakcity.or
Q.4 Simplify P YOI

(i) 1+ ﬁ 1— \/5
55+ -3
1+v2 1-4/2

Solution: \/§+J§ NG

,ﬁ
ﬁm

e 5-5) (5]
- 3 2 ' ) o
If x=1/3+2, find x+—1— (\E) -(ﬁ) (\/5) -(ﬁ) ;
Solution: Given that x—ﬁ+; =(ﬁ_ﬁ)+ﬁ(ﬁ_ﬁ) E
l. . ! at x =/ - g_
x B+2 o2 %
13- _ 5-3 =
:ﬁ1+2}{\/.’3§—§ @O\v@%%+@ﬂn@+ﬁ+ﬁmﬂﬁ ©
_ A3-2 @ngg - 2 %
RS o NS VB NI 6 V5 VB W16 6 O
(ﬁ) _(2) Q “?_ 5 +/2ﬁ_?+?+7§_/;{_? g
o 7z ts
__\G;Z I\J@—\/g Ans "(z
. S
=-—(\/§—-2) %
=—3+2 E%
x+i:(\/§+z)+(-\/§+z)
:ﬁ+2——\/§+2 () 2+x/_ \/_ J_ 2+J_
=2+2
.r+l:4hns Solution: 2+\/§+\/§_\/§+2+\/§
* S
2443 5B 2445
_[ 1 2- 3‘+’ 2 J“+J§]
(2443 2- 3) \V5-v3 V5443
(o1 2-5)
245 2-45,
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_r . \ , rzx( 5+J§)] Q.5 If x=2++/3, then f;nd the value
() ) {8 s (a,
_ (1)
“(2) (\/g) _ Solution: Given that x =2++/3
(2-4) [2(5+B)] (2-45° 1__1
| 4-3 ;+ 5-3 J+ 4-5 X 2+~f§
| 2 3
:fz“ 3\+f2(£+ﬁ)“+(2_ﬁx 2+\f
L X L ) -1 _ 2 - \/_
=23 +5+3-2+/5 2) _(ﬁ]
=2-2- B+ +45+5 2= J_
=J5+/5
=2\/§Ans
@@
@g&)ﬁ\ﬂa find the value of x—l
r——=(24:3)-(2-43)
NPT N,
” £ 3+\/§
s Bl =2V3 |
_ g ;,;*Jg—\@ﬁ,l_{ ] E\E“'\E) To find the value of fx-—l]ﬂ
—f‘g-kﬁ ﬁ_ﬁi UE-HE Ay We know that s
3 52 1,
Bz 5T, o
| L Ing square on both sides
(268 | b |[ 359 e
(V) () ) (3 (2) | () 2 [1_;) -2 3,,)
(2(V5-v3) oz [3(+5-+2)) =4(\3)
| T 53 3.2 ||T s-2 =4(3)
\ \ / =12 Ans
(2(»/’5—\6)\l 'K\E_VEK* f:(\/g—\ﬁ)\
=k : J+k l j—x : /
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(11)

Solution: Given that x =
V5442

542

J5 -2
5442

I ] ]
X+—, x"+-—- and x’ +——

Y-

If x= find the value of

-;dﬁ§+5+2+ 0

|

X+—=

X

s

I+—?

3-2
14
3
Taking square on bcrth sides
4 1 N '
X +—
N A

'-x"" O
, 1 178
X +—=—
X O

_ |
To find x* +—

Y

1 14
X+—=—

x 3
Taking cube on both sides

4 1"";" r’l4)
X+—| =
.3

+3(ﬂ'f)[l“1 r(x+l] -

XN X

2744
27

Q.6

www.pakcity.org

- [ 1] 2744
X =43 x+—=|=

X’ x,) 27
. (14“’ 2744
K et i | = |=—

X ,3'} 27
AL .

X 24
IB+L:%_]4

X 27
. 1 2744-378
X +—a=—

X 27
x3+—2-: . Ans

X 27

Determine the rational numbers
and b if

%%@ﬁﬂ —a+b\f

Dn Gwen that

(FH)(@—]):
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a+b\/§=4

a+bJ3 =4+03

Comparing both sides

a=4 b\@=0\/§

www.pakcity.org
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Q.1

(1)

(1)

()

(iv)

(vi)

(vii)

(viii)

Review Exercise 4

Multiple type questions?

is an algebraic ...
(a) Expression
(c) Equation

The degree of polynomial 4x” +3x"y is

(a) ]
(c) 3

a +b7is equal to “
(a) (a—b)(fsl +ab +bl)

(c) (r:-rb)(uj —-ab +b:)

(3+\E)(3—\6) Is equal to

(a) 7
(c) -1

Conjugate of surd a + JE( -

(a) —a+

Jb

(c) Ja++/b

o+

Is equal to

(a) (a- b)z

(¢) a+b

NG
O

1S equal to

(\/E + \/3_7)(\/;— \/};) 1s equal to

(a) a® +b°

(¢) a—>b

(b) Sentence
(d) In-equation

(b) 2
(d) 4

(b) (a+b a* —ab+b° )

(d) (a- b%@r ab + b

<)
b) -7
(d) 1

(b) a—Jb

(d) Ja —/b

(b) (a+b)

(d) a—b

(b) a* —b°
(d) a+b

www.pakcity.org
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_-j
(1)
(11)
(111)
(1v)
(V)

(vi)

(vin)

LY

ANSWER KEY

¥

Vi

VIl

+* + #

Full im the blanks

The degree of polvnomial v 1 Sxy

ANSWER KEY

(1)
(11)
(111)
(Iv)
(V)
(vi)

(vin)

Q.3

(1)

v -4
I | | _
i) ¥ { |
% \
:(u h } (¢ - h) | }
I
N -
AY
Orvder of surd v s
I —
24/3
1
(v - 2MHx+2)
| I
X —_—
S
T %%
S
x —I— z {
Y
3
A SRR
. L
Iy — 5 hind
s
|
X e
A

Solution: Giaiven that v

o bh)

Putting the values

.
— Y

A

-

- +h - 2ab

]
X)) —
X

ltl

T

ng\o@ﬁ
S
W
2

www.pakcity.org
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1} X" +—
(1) e
, ]
Solution: Given that X" +—=7
2
. q 2 .3 'f 2 i /
(o] () +( ) +209) )
X X X,
(7) =x* +;—4+2
49 = x* +l4+ 2
X
g, b
X' —=49-2
X
x4+ ]4 =47 Ans
X
. |
Q4 If x——=2 find
X
oo ooa
() x +— (f)x" +—
X X
Solution (i)
1
Given that x——=2
X

‘a+b) =a* +b* +2ab

Putting the values

(2) =x* + =2
7
g ].
44+2=x - —
x
_— _
_r“+—£=6 Aﬂs

\
O@@

Solution (i)
: A
Given that X +—=06
X
™

P R 2/,«*’]
G aras it

(6)2 = x* +—£—I+2

Find the value of x° + " and xy
if x+y=5andx-v=3.
Solution: Given that x+ y =35

%ﬁ‘%ﬂw that
oé\\“&)ﬁo"“ (x+ y) =(x-y) =4xy

§@ Putting the values

4xy =(5) - (3)
dxy=25-9
dxy =106

4
‘:{y:éﬂ

A

Xy = 4 Ans

As we know that

(,r+y')3' =x"+) +3xy(x+y)
Putting the values

(5)3 =x" +y°.3%x4x5
125=x"+y" +60

© + 3 =125-60

x 4+’ =65

Q.5

x'+y =65 Ans

www.pakcity.org
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0.6 If P=2++/3,find

|
w P _

Solution: Given that P =2+ J?_)
| |

As we know that

1 .
—=2-+/3 and
5 =2-3

P=2+\/§

| 1
LR P“ +
(111) _P“
]:

Solution: Given that /’ + F =4

(a + b)2 —a +b° +2ab

2 _ >

EORCRt
P

(P) [P,: +2(}3')

www.pakcity.org

P....
16 2=P3+-]-:,_-—
P.u-
P+ : =14 Ans
P._.
I |
. pr_ L
(1v) p?
Solution: .
o1 (1Y, 1
PPe—=|P+—_| P -
Pl pP) P =
» b Ny >
P = (4)(2V3) =
= \Eﬁms %‘U
—3 Q_
© =
=
@Q =
© L
O%Q‘ﬁ\ ©
J5 +2 find. =
T | | n
\F g=5+2 fi I
D
| :
g+ :
S
Solution: Gwen that g = J5+2 =
1 5-2 >
‘ ( \/—+2 J— 2 N
»
_ 5-2 &
LERC]
-
5—4
=5-2
g+—=5+7+\5-7
i
q+—]-—2-\/5— Ans
q



L l
(n) ¢-—

= q =
Solution: Given that g = J5+2

E:\E—Z
q-—-«f+2 (v5-2)
—)ﬁ'+2 B 42

d——=4 Ans
o
>
() g +—
o
|
Solution: Given that ¢g——=4
)
Squaring both sides
S JE )q
g—— | =(4)
N (
>
g T 2=106
q°
> |
g -+ — = 16+2
q
7 +=%— =18 Ans
)
. PR
(IV) f )
g
_ 1
Solution: Given that ¢ +—= 245
)
q—l:4
d

By using formula
1 i 1 A ] 3

Q.8 Simplify

(1)

www.pakcity.org

va +2 +va -
\/a +2 — \[a

Snlutmn

s./.::r + 2 — \/a — 2 \/a +2+\/a

(\/a‘"+ 2 +\/a"" ——2)

() ()

) a +Z+a —2’+2[ch4%+%/—4]

( cf+;)2+( 33—2):+2(M)( af"-—-z)

a +2—a +2

Please visit for more data at: www.pakcity.org

> ,,,

a+va —x a—\a —x
k(a)z—(.v/a:—x ) (a}z—(x/al—x" )“
fa+\/a“ —x H_fﬂ—\/a’ — x° !
ka—(.:rz—x )} ,‘\a—(az —I’E)J
(a+da—x* ) [ a-Ja* —x° ]
@’ -a’ +x° \ﬂ{_ﬁ{+f




S
—

g HNa —x —g@+va

g4+-va —X

q
o
3

www.pakcity.org
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Unit 4: Algebraic Expressions and Algebraic

FormulasjOverview

Algebraic expression:

An algebraic expression 1s that in which constants or variables or both are combined
by basic operations.

Polynomial:
Polynomial means an expression with many terms.

Degree of Polynomial:
Degree of Polynomial means highest power of variabl(?f’{g\

O

Rational expression: OO

o

oy

O\,\){f
(x) , A
_.(. . _+ : : by } i 5 . a i + | _ "
Expression in the form ——=, q(.x)/\ ‘called rational expression.
(%) N
| @

Surd:

Please visit for more data at: www.pakcity.org

A surd which contains a single term 1s called monomal surd.

Binomial Surd:

A surd which contains sum or ditference of two surds 1s called binomial surd.





